



FREDHOLM INTEGRAL EQUATIONS: A SOLUTION PROCEDURE USING FUZZY APPROACH

MOHAMMED NAVEED A. RASHEED AND SYED JAVED KABEER

Research Scholar, NIMS University, Jaipur, Rajasthan Research Guide

Abstract:

The current research attempts to offer a new method for solving fuzzy linear Fredholm integral equations. This method converts the given fuzzy system into a linear system in crisp case by using the approximation method and separable kernel method respectively. Now the solution of this system yields the unknown coefficients of the solution functions. The proposed method is illustrated by an example.

KEYWORDS:

Fuzzy Integral Equation, Fredholm Integral Equations, Approximate Solution, Basic Function, Fuzzy Transforms.

In a real field Fuzzy set theory is a powerful tool for modelling uncertainty and for processing vague or subjective information in mathematical models. The topics of fuzzy differential equations (FDE) and fuzzy integral equations (FIE) attracted growing interest of researchers in recent time. The concept of fuzzy sets which was originally introduced by Zadeh [10] led to the definition of the fuzzy number and its implementation in fuzzy control [6] and approximate reasoning problems [11, 12].

This paper contains the basic material to be used in solving FIE under uncertain condition.

INTRODUCTION:

In the recent years, various powerful mathematical methods based on quadrature formulas [1], Adomian decomposition [1], Legendre wavelets, hybrid Legendre and block-pulse functions [4], iterative interpolation [3] and successive approximation method [2] have been proposed to obtain approximate-analytical solutions for linear fuzzy Fredholm integral equations of the second kind. Recently, Bernstein polynomials have been used to solve linear and nonlinear differential equation as well as some classes of integral equations in the crisp case. These polynomials defined on an interval form a complete basis over the interval. Each of these polynomials is positive and their sum is unity. Using these two properties, we construct the proposed method.

The basic arithmetic structure for fuzzy numbers was later developed by Mizumoto and Tanaka [13, 14], Nahmias [15], Dubois and Prade [16, 17], and Ralescu [18].

The fuzzy mapping function was introduced by Chang and Zadeh [7]. Later, Dubois and Prade[8] presented an elementary fuzzy calculus based on the extension principle [10]. Puri and Ralescu [19] suggested two definitions for fuzzy derivative of fuzzy functions. The first method was based on the H-difference notation and wasfurther investigated by Kaleva [9]. The second method was derived from the embedding technique and was followed by Goetchel and Voxman [20] who gave it a more applicable representation. The concept of integration of fuzzy functions was first introduced by Dubois and Prade [8]. Alternative approaches were later suggested by Goetschel and Voxman [20], Kaleva [9], Matloka [21], Nanda [22], and others.

A new method is proposed for approximate the solution of a fuzzy linear Fredholm integral equations system. This method converts the given fuzzy system that supposedly has a unique fuzzy solution, into crisp linear system. This paper presents some preliminary basic definitions and published results by research scholars in this area. In the last section, numerical example is illustrated.

It is well known form of the Fredholm integral equation of the second kind is:

$$F(t) = f(t) + \lambda(ku)(t), \qquad \dots (1)$$

where

$$(ku)(t) = \int_a^b k(s,t)F(s)ds, \qquad a \le t \le b.$$

In (1), k(s,t) is an arbitrary kernel function over the square $a \le s$, $t \le b$ and f(t) is a function of $t : a \le t \le b$.

In addition, if f(t) be a crisp function, then the solution of the above equation is crisp as well. Also if f(t) be a fuzzy function, we have Fredholm's fuzzy integral equation of the second kind which may only process fuzzy solutions. Sufficient conditions for the existence and uniqueness of the solution of the second kind equation, where f(t) is a fuzzy function, are given in [5].

FUZZY INTEGRAL EQUATION:

The Fredholm integral equation of the second kind is

$$F(t) = f(t) + \lambda \int_{a}^{b} K(s,t)F(s)ds, \qquad \dots (2)$$

where $\lambda > 0$, K(s, t) is an arbitrary given kernel function over the square $a \le t$, $s \le b$ and f(t) is given function of $t \in [a,b]$. If f(t) is a crisp function then the solution of above equation is crisp as well. However, if f(t) is a fuzzy function this equation may only possess fuzzy solution. Sufficient conditions for the existence equation of the second kind, where f(t) is a fuzzy function are given in [1]. Now, we introduce parametric form of a FFIE-2 (Fuzzy Fredholm Integral Equation of second kind).

Definition: Let $(f(t,r),\overline{f}(t,r))$ and $(\underline{u}(t,r),\overline{u}(t,r))$, $0 \le r \le 1$ and $t \in [a,b]$ are parametric form of f(t)

and u(t), respectively then, parametric form of FFIE-2 is as follows:

$$\underline{u}(t,r) = \underline{f}(t,r) + \lambda \int_{a}^{b} v_{1}(s,t,\underline{u}(s,r),\overline{u}(s,r))ds,$$

$$\overline{u}(t,r) = \overline{f}(t,r) + \lambda \int_{a}^{b} v_{2}(s,t,\underline{u}(s,r),\overline{u}(s,r))ds. \qquad \dots (3)$$

Where

$$v_1(s,t,\underline{u}(s,r),\overline{u}(s,r)) = \begin{cases} K(s,t)\underline{u}(s,r), K(s,r) \geq 0, \\ -K(s,t)\underline{u}(s,r), K(s,r) < 0. \end{cases}$$

$$v_2(s,t,\underline{u}(s,r),\overline{u}(s,r)) = \begin{cases} K(s,t)\overline{u}(s,r), K(s,r) \ge 0, \\ K(s,t)\underline{u}(s,r), K(s,r) < 0. \end{cases}$$

for each $0 \le r \le 1$ and $a \le t \le b$.

We can see that (3) is a system of linear Fredholm integral equations in crisp case for each $0 \le r \le 1$ and $a \le t \le b$.d

LINEAR FREDHOLM INTEGRAL EQUATION USING FUZZY TECHNIQUE:

In this section we present a new method for solving the linear fuzzy Fredholm integral equation with degenerate kernel. The proposed approach will be illustrated in terms of the following equation:

$$F(t) = f(t) + \lambda \int_{a}^{b} k(s,t)F(s)ds,$$

with $\lambda > 0$. It is assumed that kernel k(s, t) is degenerate, that is,

$$k(s,t) = \sum_{i=1}^{n} a_i(s)b_i(t),$$

Where $a_i(s)$ and $b_i(t)$, i = 1, 2, ..., n, are linearly independent functions. In equation (2), if f is a crisp function then the solution is crisp as well, and in the case that f is a fuzzy function, we have Fredholm fuzzy integral equation of the second kind which may only process fuzzy solutions.

Now we introduce parametric form of the fuzzy integral Eqs. (2) as we know that. Let (f(t, r), f(t, r)) and (F(t, r), F(t, r)) $(0 \le r \le 1, a \le t \le b)$ are parametric form of f(t) and F(t) respectively, then the parametric form of the fuzzy integral equation (2) is as follows:

$$\underline{F}(t,r) = \underline{f}(t,r) + \lambda \int_{a}^{b} \underline{k(s,t)F(s,r)} ds, \qquad \dots (4)$$

$$\overline{F}(t,r) = \overline{f}(t,r) + \lambda \int_{a}^{b} \overline{k(s,t)} F(s,r) ds, \qquad \dots (5)$$

where,

$$\underline{k(s,t)F(s,r)} = \begin{cases} k(s,t)\underline{F}(s,r), & k(s,t) \ge 0\\ k(s,t)\overline{F}(s,r), & k(s,t) < 0 \end{cases}$$

$$\overline{k(s,t)F(s,r)} = \begin{cases} k(s,t)\overline{F}(s,r), & k(s,t) \ge 0\\ k(s,t)\underline{F}(s,r), & k(s,r) < 0 \end{cases}$$

By the above assumptions the equations (4) and (5) will become in the following forms respectively.

$$\underline{F}(t,r) = \underline{f}(t,r) + \lambda \sum_{i=1}^{n} \int_{a}^{b} \underline{a_i(s)b_i(t)F(s,r)} ds, \qquad \dots (6)$$

$$\overline{F}(t,r) = \overline{f}(t,r) + \lambda \sum_{i=1}^{n} \int_{a}^{t} \overline{a_i(s)b_i(t)F(s,r)} ds \qquad \dots (7)$$

If we denote by A_i , i=1, 2,...,n the set of union on subintervals of [a, b] that $a_i(s)$ is nonnegative on these subintervals and by B_i , i=1, 2, ..., n the set of union on subintervals of [a, b] that $a_i(s)$ is negative on these subintervals. It is clear that $A_i \cup B_i = [a, b]$, i=1, 2, ..., n.

Without loosing generality, we suppose that $b_i(t)$ is nonnegative for fixed t and $1 \le i \le n$. By the above assumptions we can rewrite equations (6) and (7) respectively as follows:

$$\underline{F}(t,r) = \underline{f}(t,r) + \lambda \sum_{i=1}^{n} \left(\sum_{I_{i} \in A_{i} I_{i}} a_{i}(s) b_{i}(t) \underline{F}(s,r) ds + \sum_{J_{i} \in B_{i}} \int_{J_{i}} a_{i}(s) b_{i}(t) \overline{F}(s,r) ds \right), \dots (8)$$

$$\overline{F}(t,r) = \overline{f}(t,r) + \lambda \sum_{i=1}^{n} \left(\sum_{I_i \in A_i I_i} a_i(s) b_i(t) \overline{F}(s,r) ds + \sum_{J_i \in B_i} \int_{I_i} a_i(s) b_i(t) \underline{F}(s,r) ds \right), \dots (9)$$

The above equations. We can affirm that,

$$S_{F}(t,r) = S_{f}(t,r) + \lambda \sum_{i=1}^{n} \int_{a}^{b} a_{i}(s)b_{i}(t)S_{F}(s,r)ds, \qquad \dots (10)$$

$$D_{F}(t,r) = D_{f}(t,r) + \lambda \sum_{i=1}^{n} \int_{a}^{b} |a_{i}(s)| |b_{i}(t)| D_{F}(s,r) ds, \qquad \dots (11)$$

4

Note that in the negative case of $b_i(t)$ for some i that same results as the above equations are obtained. It emerges that the technique of solving equations (8) and (9) are

$$c_i = \int_a^b a_i(s) S_F(s,r) ds,$$

$$d_i = \int_a^b |a_i(s)| D_F(s,r) ds,$$

By substituting c_i and d_i in (10) and (11) respectively, we obtain

$$S_F(t,r) = S_F(t,r) + \lambda \sum_{i=1}^n c_i b_i(t), \qquad \dots (12)$$

$$D_F(t,r) = D_f(t,r) + \lambda \sum_{i=1}^n d_i |b_i(t)|, \qquad \dots (13)$$

By substituting (13) into ci we obtain

$$\sum_{i=1}^{n} c_{i} b_{i}(t) = \sum_{i=1}^{n} b_{i}(t) \int_{a}^{b} a_{i}(s) S_{F}(s, r) ds$$

$$= \sum_{i=1}^{n} b_{i}(t) \int_{a}^{b} a_{i}(s) \left(S_{F}(s, r) + \lambda \sum_{k=1}^{n} c_{k} b_{k}(s) \right) ds$$

therefore we get

$$\sum_{i=1}^{n} b_i(t) \left\{ c_i - \int_a^b a_i(s) \left(S_f(s, r) + \lambda \sum_{k=1}^{n} c_k b_k(s) \right) ds \right\} = 0$$

in a similar manner we get

$$\sum_{i=1}^{n} |b_{i}(t)| \left\{ d_{i} - \int_{a}^{b} |a_{i}(s)| \left(D_{f}(s, r) + \lambda \sum_{k=1}^{n} d_{k} |b_{k}(s)| \right) ds \right\} = 0$$

Since the functions $b_i(t)$ and consequently $|b_i(t)|$, i = 1, 2, ..., n are linearly independent, therefore,

$$c_i - \int_a^b a_i(s) \left(S_f(s, r) + \lambda \sum_{k=1}^n c_k b_k(s) \right) ds = 0 \qquad \dots (14)$$

6

$$d_{i} - \int_{a}^{b} |a_{i}(s)| \left(D_{f}(s, r) + \lambda \sum_{k=1}^{n} d_{k} |b_{k}(s)|\right) ds = 0 \qquad \dots (15)$$

For these computations in the sense of the unknowns, we simplify the problems by using the following notations

$$f_i^{(1)} = \int_a^b a_i(s) S_f(s,r) ds$$
, $a_{ik}^{(1)} = \int_a^b a_i(s) b_k(s) ds$,

$$f_i^{(2)} = \int_a^b |a_i(s)| D_f(s,r) ds, \qquad a_{ik}^{(2)} = \int_a^b |a_i(s)| |b_k| ds,$$

Where the constant $f_i^{(1)}, f_i^{(2)}, a_{ik}^{(1)}$ and $a_{ik}^{(2)}$ ($1 \le i, k \le n$) are known then equations (14) and (15) become respectively

$$c_i - \lambda \sum_{k=1}^n a_{ik}^{(1)} c_k = f_i^{(1)}, \qquad i = 1, 2, ..., n,$$
 ... (16)

$$d_i - \lambda \sum_{k=1}^n a_{ik}^{(2)} d_k = f_i^{(2)}, \qquad i = 1, 2, ..., n, \qquad ... (17)$$

which are two systems of n algebraic Equations. For the unknowns c_i and d_i Therefore the problem reduces to finding the quantities c_i and d_i , i = 1, 2, ..., n. The determinants of these systems are two polynomials in term of λ of degree at most n. For all values of λ for which the determinants are not equal to zero the algebraic systems (16) and (17) have solution and thereby the fuzzy integral Equations (2) have unique solutions. We can use equations (12) and (13) and obtain the fuzzy solution of the problem.

Numerical illustration:

This section presents numerical illustration on linear Fredholm fuzzy integral equations system and obtained results compared with the exact solutions obtained in non fuzzy (crisp) environment.

Example: Consider the system of Fredholm fuzzy integral equations with:

$$\overline{f_1}(t,r) = \frac{14t^2(r-2)}{3} + \frac{3t^2(r^3-2)}{4} - t(r-2) + \frac{9rt^2(r^4+2)}{4},$$

$$\underline{f_1}(t,r) = rt - \frac{27t^2(r^3 - 2)}{4} - \frac{14rt^2}{3} - \frac{rt^2(r^4 + 2)}{4},$$

$$\overline{f_2}(t,r) = \frac{8(t^2+1)(r-2)}{3} - t(3r^3-6) + \frac{9(r^3-2)(t-2)^2}{10} + \frac{47r(r^4+2)(t-2)^2}{10},$$

$$\underline{f_2}(t,r) = t(r^5 + 2r) - \frac{141(r^3 - 2)(t - 2)^2}{10} - \frac{8r(t^2 + 1)}{3} - \frac{3r(r^4 + 2)(t - 2)^2}{10},$$

kernel functions

$$K_{1,1}(s,t) = t^2(1+s), \quad K_{1,2}(s,t) = t^2(1-s^2),$$

 $K_{2,1}(s,t) = s(1+t^2), \quad K_{2,2}(s,t) = (t-2)^2(1-s^3), \quad 0 \le s, t \le 2,$

and
$$a = 0$$
, $b = 2$, $\lambda_{i,j} = 1$ (for $i, j = 1, 2$).

The solution of above kernel by crisp method is:

For
$$K_{1,1}(s,t) = t^2(1+s)$$
 from equation (2),

$$F(t) = f(t) + \lambda \int_{0}^{2} t^{2} (1+s) F(s) ds$$

$$F(t) = f(t) + \lambda \int_{0}^{2} 3t^{2} (1+s) F(s) ds$$

$$F(t) = f(t) + \lambda \int_0^2 \frac{3t^2(1+s)f(s)}{3-20\lambda} ds.$$

For
$$K_{1,2}(s,t) = t^2(1-s^2)$$

$$F(t) = f(t) + \lambda \int_{0}^{2} \frac{5t^{2}(1-s^{2})f(s)}{(5+8\lambda)} ds.$$

For
$$K_{2,1}(s,t) = s(1+t^2)$$

$$F(t) = f(t) + \lambda \int_{0}^{2} \frac{1+t^{2}}{1-6\lambda} sf(s) ds.$$

For
$$K_{2,2}(s,t) = (t-2)^2(1-s^3)$$

$$F(t) = f(t) + \lambda \int_{0}^{2} \frac{5(1-s^{2})(t-2)^{2}}{5-8\lambda} f(s) ds.$$

The exact solution in this case is given by

$$\overline{F_1}(t,r) = t(2-r), \qquad F_1(t,r) = tr,$$

$$\overline{F_2}(t,r) = t(6-3r^3), \quad F_2(t,r) = t(r^5+2r)$$

In this example we assume that z = 0. Using Equations (10)-(11), the coefficients matrix W is calculated as following:

$$W = \begin{bmatrix} W^{1,1} & W^{1,2} \\ W^{2,1} & W^{2,2} \end{bmatrix},$$

where

$$W^{2,1} = \begin{bmatrix} 2 & \frac{8}{3} & 0 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 2 & \frac{8}{3} \\ 0 & 0 & 0 & 0 \end{bmatrix} \text{ and } W^{2,2} = \begin{bmatrix} 2 & \frac{12}{10} & -11 & \frac{-94}{5} \\ -3 & \frac{-22}{10} & 11 & \frac{94}{5} \\ -11 & \frac{-94}{5} & 2 & \frac{12}{10} \\ 11 & \frac{94}{5} & -3 & \frac{-22}{10} \end{bmatrix}$$

With using of above matrices, we can rewrite the linear system (11) as follows:

$$W\begin{bmatrix} \frac{F_{1}(0,r)}{F_{1}'(0,r)} \\ \frac{\overline{F_{1}}(0,r)}{\overline{F_{1}}(0,r)} \\ \frac{F_{2}(0,r)}{\overline{F_{2}}(0,r)} \\ \frac{\overline{F_{2}}(0,r)}{\overline{F_{2}}(0,r)} \end{bmatrix} = \begin{bmatrix} 0 \\ -r \\ 0 \\ r-2 \\ \frac{6}{5}r^{5} + \frac{282}{5}r^{3} + \frac{76}{15}r - \frac{564}{5} \\ -\frac{11}{5}r^{5} - \frac{282}{5}r^{3} - \frac{22}{5}r + \frac{564}{5} \\ -\frac{94}{5}r^{5} - \frac{18}{5}r^{3} - \frac{604}{15}r + \frac{188}{15} \\ \frac{94}{5}r^{5} + \frac{3}{5}r^{3} + \frac{188}{15}r - \frac{66}{5} \end{bmatrix}$$

The analytical vector solution of above linear system is:

 $\begin{bmatrix}
\frac{F_{1}(0,r)}{F'_{1}(0,r)} \\
\overline{F'_{1}(0,r)} \\
\overline{F'_{1}(0,r)} \\
\overline{F'_{2}(0,r)} \\
\overline{F'_{2}(0,r)} \\
\overline{F'_{2}(0,r)} \\
\overline{F'_{2}(0,r)}
\end{bmatrix} = \begin{bmatrix}
0 \\
r \\
0 \\
2-r \\
0 \\
r^{5}+2r \\
0 \\
6-3r^{3}
\end{bmatrix}$

CONCLUSION

Proposed method had shown significant role in solving Fredholm equation in terms accuracy and exactness.

REFERENCES:

- [1]S. Abbasbandy, E. Babolian, M. Alavi. Numerical method for solving linear Fredholm fuzzy integral equations of the second kind. Chaos, Soliton and Fractals, 31, 2007; 138 146.
- [2]O.S. Fard, M. Sanchooli. Two successive schemes for numerical solution of linear fuzzy Fredholm integral equations of the second kind. Australian Journal of Basic and Applied Sciences, 4(5), 2010; 817 825.
- [3]H.S. Goghary, M.S. Goghary Two computational methods for solving linear Fredholm fuzzy integral equation of te second kind. Applied Mathematics and computation, 182, 2006; 791 796.
- [4]M. Ghanbari, R. Toushmalni, E. Kamrani. Numerical solution of linear Fredholm fuzzy integral equation of the second kind by Block-pulse functions. Aust. J. Basic & Appl. Sci., 3(3), 2009; 2637 2642.
- [5]W. Congxin and M. Ming, On the integrals, series and integral equations of fuzzy set-valued functions, Journal of Harbin Institute of Technology, vol. 21, 1990; 9–11.
- [6]S.L. Chang, L.A. Zadeh, On fuzzy mapping and control, IEEE Trans, Systems Man Cybernet. 2, 1972; 30-34.
- [7]DP.Datta, The golden mean, scale free extension of real number system, Fuzzy Sets and i/f spectrum in physics and biology Chaos, solitons and Fractals 17, 2003; 781-788.
- [8]D.Dubois, H. Prade, Towards fuzzy differential calculus: Part 3, differentiation, Fuzzy Sets and Systems 8, 1982; 225-233.
- [9]O. Kaleva, Fuzzy differential equ utilisation ations, Fuzzy Sets and Systems 24, 1987; 301-317.
- [10]L.A. Zadeh, Fuzzy sets, Inform. Control 8, 1965; 338-353.
- [11]L.A. Zadeh, The concept of a linguistic variable and its application to approximate r easoning, Inform. Sci. 8 (1975) 199-249; 301-357.
- [12]L.A. Zadeh, Linguistic variables, approximate reasoning and disposition, Med. Inform. 8, 1983; 173-186.

10

[13]M. Mizumoto, K. Tanaka, The four perations of arithmetic on fuzzy numbers, Systems- omput.-Controls 7 (5), 1976; 73-81.

[14]M. Mizumoto, K. Tanaka, Some properties of fuzzy numbers, in: M.M. Gupta, R.K. Ragade, R.R Yager (Eds.), Advances in Fuzzy Set Theory and Applications, North-Holland, Amsterdam, 1979; 156-164.

[15]S. Nahmias, Fuzzy variables, Fuzzy Sets and Systems 1, 1978; 97-111.

[16]D. Dubois, H. Prade, Operations on fuzzy numbers, J. Systems Sci. 9, 1978; 613-626.

[17]D. Dubois, H. Prade, Fuzzy Sets and Systems: Theory and Applications, Academic Press, New York, 1980.

[18]D. Ralescu, A survey of the representation of fuzzy concepts and its applications, in: M.M. Gupta, R.K. Ragade, R. Yager (Eds.), Advances in Fuzzy Set Theory and Applications, North-Holland, Amsterdam, 1979, p. 77.

[19]M.L. Purl, D. Ralescu, Differential for fuzzyfunction, J. Math. Anal. Appl. 91, 1983; 552-558.

[20]R. Goetschel, W. Voxman, Elementary calculus, FuzzySets and Systems 18, 1986; 31-43.

[21]M. Matloka, On fuzzy integrals, Proc. 2nd Polish Symp.on Interval and Fuzzy Mathematics, PolitechnikaPoznansk,1987; 167-170.

[22]S. Nanda, On integration of fuzzy mappings, FuzzySets and Systems 32, 1989; 95-101.